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AR 81 10 14 111114 8 8 5 0| 123 29.6 43.2 1| 3.36 3.453| 3.41 4.06 3.514
2407 (MN—#%) 48 3 9 6 7 8 8 7 0 0 6.2 25.0 37.5| 0| 336  3.453] 339 425  3.504
(oft—#%)| 28 7 4 5 4 6 0 1 1 0 25.0 39.2 57.1| 1| 3.36  3.455| 344 325  3.530
1 Niw 2 0| (oftG#)| 5 0 1 0 0 0 0 0 4 0 0.0 20.0 2000 0/ 338 3481 340 6.80  3.520
ne 9 0 0 0 1 1 1 2 4 O 0.0 0.0 0.0/ 0] 3.38 3.494| 3.41 6.77 3.519
BRIz 245A RELE 6 0 1 0 0 3 1 0 1 O 0.0 16.6 16.6| 0| 3.38 3.495 3.40 5.16 3.516
527% AR i0o 0 0 1 2 3 1 1 2 O 0.0 0.0 10.0f 0| 3.37 3.487, 3.41 5.50 3.514
L5 16 0 1 1 0 4 5 2 3 O 0.0 6.2 12.5| 0| 3.36 3.439, 3.40 5.81 3.510
ARt 60 411 91011 9 6 0 O 6.6 25.0 40.0 0| 3.33 3.428| 3.41 4.06 3.498
2729 (MN—#%) 40 1 7 7 7 9 5 4 0 0 2.5 20.0 37.5| 0| 3.33  3.428 339 417  3.481
(oft—#%)| 20 3 4 2 3 2 4 2 0 0 15.0 35.0 450/ 0| 3.35 3.444| 345 385  3.531
1][m! 11 1 2 0 1 4 1 2 0 O 9.0 27.2 27.2| 0| 3.39 3.441 3.41 4.45 3.489
Bl 275A R8I 7 1 1 0 1 1 2 1 0 0 142 285 285 0 3.35 3.465 3.38 442 3.491
457% AR 17 2 3 3 1 3 4 0 1 O 11.7 29.4 47.0/ 0| 3.36 3.449, 3.40 4.00 3.492
L5 4 1 0 0 0 0 O 3 0 O 25.0 25.0 25.0) 0| 3.38 3.459| 3.41 5.50 3.551
Al 84 11 14 910 91414 3 0| 13.0 29.7 40.4 0| 3.34 3.410 3.40 4.25 3.484
2108 (MN—#%) 49 4 7 6 7 8 7 10 0 0 8.1 22.4 34.6| 0| 3.34  3.410] 339 440 3472
(oft—#%)| 28 5 6 2 2 0 6 4 3 0 17.8 39.2 46.4| 0| 3.37  3.452| 3.43 425  3.513
N B BIR 10 (ofes) 2 1 1 1 1 1 0 0 0 28.5 42.8 57.1) 0| 3.34  3.413] 339 3.14  3.459
ne 0 2 01 0 0 1 1 O 0.0 40.0 40.0/ 0| 3.36 3.460, 3.37 4.60 3.477
iz 2153 R8I 16 1 2 3 2 0 3 2 3 0 6.2 18.7 37.5| 0| 3.35 3.390| 3.39 4.87 3.465
58i% AR 8§ 2 2 1 0 0 1 1 1 O 25.0 50.0 62.5| 0| 3.34 3.435| 3.38 3.75 3.465
L5 9 1. 0 0 4 1 1 2 0 O 11.1 11.1 11.1] 0| 3.36 3.450| 3.38 4.66 3.466
Al 75 7 513131711 5 4 O 9.3 16.0 33.3 0| 3.33 3.397 3.40 4.34 3.466
2721 (MN—#%)| 44 7 3 7 11 10 6 0 0 O 15.9 22.7 38.6| 0| 3.33 3.397| 3.38 372  3.444
(¢oft—#%)| 23 0 2 6 1 5 3 3 3 0 0.0 8.6 34.7| 0| 337 3437| 343 495  3.507
4 H # |20 @oftes) 8 0 0 0 1 2 2 2 1 0 0.0 0.0 0.0/ 0/ 337 3415 339 6.00  3.465
nmea 7 0 0 1 1 2 0 0 3 O 0.0 0.0 14.2) 0| 3.35 3.403| 3.38 5.85 3.423
ERizx 275A FRERIG 8 0 1 1 4 2 0 0 O O 0.0 12.5 25.00 0| 3.36 3.425| 3.39 3.87 3.457
467% AR 1 0 3 2 2 2 1 1 0 O 0.0 27.2 45.4) 0| 3.36 3.427, 3.38 3.90 3.446
L5 20 1 4 1 4 2 3 4 1 O 5.0 25.0 30.0 0| 3.34 3.399| 3.37 4.60 3.430
Ak 44 3 7 6 711 9 0 1 O 6.8 22.7 36.3| 0| 3.30 3.369| 3.35 4.09 3.452
2508 (MN—#%) 21 2 3 4 6 4 2 0 0 0 9.5 23.8 428/ 0| 330 3.392| 333 361  3.426
(¢oft—#%)| 15 1 3 2 0 4 5 0 0 0O 6.6 26.6 40.0, 0| 3.34  3.433] 339 420  3.491
5 HES BFEF 30| *oftek) 8 o 1 0 1 3 2 0 1 0 0.0 12.5 125/ 0| 332 3369 335 512  3.445
nmea 8 0 1 2 1 1 1 0 2 O 0.0 12.5 37.5| 0] 3.32 3.404| 3.33 4.87 3.434
Bz 250 R8I 7 0 1 01 2 2 010 0.0 142 14.2| 0| 3.33 3.433| 3.35 5.14 3.446
51i% AR 25 2 2 3 4 3 2 4 5 0 8.0 16.0 28.00 0| 3.32 3.395| 3.34 5.04 3.433
L5 22 1 2 4 4 3 4 3 1 0 4.5 13.6 31.8) 0| 3.31 3.386| 3.35 4.59 3.434
Ak 56 8 7 710 611 7 0 0 14.2 26.7 39.2 0 3.31 3.375 3.37 4.07 3.454
3402 (MN—%) 28 3 3 7 5 3 3 4 0 0 10.7 21.4 46.4| 0| 331  3.387| 3.35 3.96  3.437
(¢oftb—#%)| 22 5 3 0 5 3 6 0 0 0O 22.7 36.3 36.3| 0| 333  3.436| 339 372  3.479
A87A EH 30 =otcH) 6 0 1 0 0O 0 2 3 0 0 0.0 16.6 16.6) 0| 3.32  3.375| 335 583  3.439
mea 14 2 2 0 3 2 4 1 0 O 14.2 28.5 28.5| 0| 3.30 3.387| 3.36 4.21 3.428
BRix 3454 REAI 12 2 1 1 2 1 3 0 2 0 166 250 333 0 3.34 3.415 3.37 4.50 3.446
25i% AR 4 0 0 3 3 5 2 1 0 O 0.0 0.0 21.4) 0| 3.32 3.408| 3.36 4.64 3.429
L5 4 0 2 3 4 2 1 2 0 O 0.0 14.2 35.7, 0] 3.32 3.381| 3.34 4.21 3.419
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R i ® @ @ & ® @ B £ Xt xE @EH HE LY FHE BE LAY
AR 22 0 0 1 3 2 6 550 0.0 0.0 45 0 6.18
2407 (MN—#) 14 0 0 1 2 1 6 4 0 0 0.0 0.0 7.1 0 5.71
(2Ot —A%) 5 0 0 0 1 1 0 1 2 0 0.0 0.0 0.0, 0 6.40
1 Niw 2 0| ((®ofGH) 3.0 0 0 0 0 0 0 3 0 0.0 0.0 0.0 0 8.00
ne 0O 0 0 O O 0 O 0.0 0.0 0.0 O 6.00
ERix 2458 R8I
527% AR 2 0 0 0 0 0 0 2 0 O 0.0 0.0 0.0 O 7.00
L5 4 0 0 0O O O 2 1 1 O 0.0 0.0 0.0 O 6.75
ARix 13 1 1 0 313 211 7.6 153 153 0 5.00
2729 (MN—#) 8 1t 1 0 2 0 3 0 0 1 12.5 25.0 250/ © 4.14
(2Ot —A%) 5 0 0 0 1 1 0 2 1 0 0.0 0.0 0.0, 0 6.20
e
frix 278HR REE 1 0 0 0 0 1 0 O 0 O 0.0 0.0 0.0 O 5.00
457% AR 7 1 0 1 0 1 2 1 1 0 142 142 285 0 5.14
L5 4 0 1 0 1 2 0 0 0 O 0.0 25.0 25.00 0 4.00
i 22 1 0 2 2 4 6 5 2 0 4.5 45 13.6| 0 5.54
2108 (MN—#) 12 0 0 1 1t 4 3 3 0 0 0.0 0.0 83 0 5.50
(ZOft—A%) 5 0 0 0 1 0 2 1 1 0 0.0 0.0 0.0, 0 6.20
N B BIR 10 (ofes) 5 1 0 1 0 0 1 1 1 0 20.0 20.0 40.0/ 0 5.00
ne 1 0 0 0 0 0O 0 1 0 O 0.0 0.0 0.0 O 7.00
Hrix 21HA FRERIG 2 0 0 0 1 1 0 O O O 0.0 0.0 0.0 O 4.50
58i% AR 3 01 0 1 0 O O 1 O 0.0 33.3 33.3] O 4.66
L5 8 0 1 3 1 2 1 0 0 O 0.0 12.5 50.0/ O 3.87
Al 20 7 7 2 31 0 0 0 O 350 70.0 80.0 O 2.20
2721 (MN—#) 12 3 5 1 2 1 0 0 0 0 25.0 66.6 75.0, 0 2.41
(zoft—#%)) 4 2 1 1 0 0O 0O O 0 O 50.0 75.0  100.0| 0 1.75
4 He & 20| (RoMiGH) 4 2 1 0 1 0 0 0 0 O 50.0 75.0 75.0, 0 2.00
nmea 2 2 0 0 0 0 0O O O 0| 100.0 100.0 100.00 O 1.00
Hrix 27HA REE 2 0 2 0 0 0 0 0 0 O 0.0 100.0 100.00 O 2.00
467% AR 2 1 0 0 0 1 0 0 0 O 50.0 50.0 50.0/ O 3.00
L5 3 1.1 0 0 1 0 0 0 O 33.3 66.6 66.6) O 2.66
AR 13 1.1 52 21100 7.6 153 538 O 3.76
2508 (MN—#) 4 0 1 2 0 1 0 0 0 0 0.0 25.0 75.0, 0 3.25
(ZOft—A%) 5 0 0 1 2 0 1 1 0 0O 0.0 0.0 20.0, 0 4.80
5 HES BFEF 30| @ofte®) 4 1 0 2 0 1 0 0 0 O 25.0 25.0 75.0/ © 3.00
nmea 11 0 0 0O O O O O 0 100.0 100.0 100.00 O 1.00
BRix 25HA AL 4 1 1 1 0 0 0 0O 1 O 250 500 750 O 3.50
51i% AR 3 0 11 0 1 O O O O 0.0 33.3 66.6) O 3.33
L5 5 0 3 011 0 0 0 O 0.0 60.0 60.0 O 3.00
Ak 15 7 0 4 11 2 0 0 0 46.6 46.6 733 O 2.66
3402 MN—#) 8 4 0 1 1t 1 1 0 0 0 50.0 50.0 62.5 0 2.75
(zofs—#%)| 3 0 1 0 0 1 0 0 0O 33.3 33.3 66.6| 0 3.33
A87A EH 30 (=oftc#) 4 0 2 0 0 0 0 0 O 50.0 50.0  100.0| 0 2.00
na
AR 3447 fRZIE 8 0 2 2 1.0 0 1 0.0 250 375 0 3.85
25i% AR 2 0 O 0O 0 0 0 O 0.0 0.0 50.0/ O 3.50
L5 1 0 O 0O 0 0 0 O 0.0 0.0 100.00 O 3.00
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BRES. 2E5 L—R 155 AR
B V. BF4. B ¥ = 25 iy
R i ® @ @ ® ® @ B HE LAY BHE BEE  EAY
i 9 0 01 013 3 10 0.0 00 111 O 6.11
2407 MN—#) 6 0 0 1 0 0 2 3 0 0 0.0 0.0 16.6/ 0 6.00
oft—#%) 2 0 0 0 0 1 1 0 0 O 0.0 0.0 0.0 0 5.50
1 Niw 2 0| (zOftGH) 1 0 0 0 0 0 0 0 1 0 0.0 0.0 0.0 0 8.00
ne
ARix 2458 R8I
527% AR 2 0 1 0 0 1 0 0 0 O 0.0 50.0 50.0/ O 3.50
L5 1 0 0 0 0 1 0 O O O 0.0 0.0 0.0 O 5.00
Al 6 0 11011200 0.0 16.6 333 O 5.00
2729 (MN—4&) 5 0 1 1 0 0 1 2 0 0 0.0 20.0 40.0, 0 5.00
(2Ot —A%) 1 0 0 0 0 1 0 0 0 O 0.0 0.0 0.0 0 5.00
ne
BRix 2758 R
457% AR 2 0 0 1 0 0 0 0 1 O 0.0 0.0 50.0/ O 5.50
L5 2 0 1 0 0 0 0 1 0 O 0.0 50.0 50.0/ O 4.50
Al 10 0 0 0 1 2 4 2 1 O 0.0 0.0 0.0 O 6.00
2108 MN—#) 6 0 0 0 0 2 3 1 0 0 0.0 0.0 0.0 0 5.83
(ZOf—A%) 1 0 0 0 0 0 0 1 0 O 0.0 0.0 0.0 0 7.00
N B BIR 10 (ofes) 3.0 0 0 1 0 1 0 1 0 0.0 0.0 0.0, 0 6.00
ne
ERix 2158 AR
58i% AR 2 0 0 0 1 1 0 O O O 0.0 0.0 0.0 O 4.50
L5 3 0 0 0 0 1 1 1 0 O 0.0 0.0 0.0 O 6.00
Al 11 0 1 0 2 41 3 0O 0.0 9.0 9.0 0 5.18
2721 MN—#) 6 0 0 0 1 2 1 2 0 0 0.0 0.0 0.0 0 5.66
(oft—#%) 2 0 0 0 1 0 0 1 0 O 0.0 0.0 0.0 0 5.50
'S HHE # (20 ®ofte#®)) 3 0o 1 0 0 2 0 0 0 0 0.0 33.3 333 0 4.00
na
ERix 2758 AR
467% AR 1 0 0 0 0 01 0 O O 0.0 0.0 0.0 O 6.00
L5 4 0 1 0 1 0 1 1 0 O 0.0 25.0 25.00 0 4.75
Al 6 1 1 111100 0 16,6 33.3 50.0 O 3.50
2508 MN—#) 2 0 1 0 0 0 1 0 0 0 0.0 50.0 50.0/ 0 4.00
(oft—#%)| 2 1 0 0 1 0 0 0 0 O 50.0 50.0 50.0, 0 2.50
5 HES BFEF 30| ®ofte®) 2 o 0o 1 0 1 0 0 0 O 0.0 0.0 50.0, 0 4.00
nmea 0 O 0 O 0 0.0 0.0 0.0 7.00
BRix 2588 AR
515% R
L5 1 0 0 1.0 O O O O O 0.0 0.0 100.00 O 3.00
Ak 14 4 1 1 3 3 1 1 0 0 285 357 428 O 3.50
3402 (MN—#%) 8 2 0 0 2 3 0 1 0 O 25.0 25.0 25.0, 0 4.00
(oft—#%) 2 0 1 0 0 0O 1 0 0 O 0.0 50.0 50.0, 0 4.00
A8A EH 30| =ottc#)| 4 2 1 1 0 0 0 0 O 50.0 50.0 75.0, 0 2.25
e
AR 3447 {28 0 0 O 0 0 0 00O 0.0 0.0 0.0/ 0 4.00
25i% AR 0O 0 O 0O 0 0 0 O 0.0 0.0 0.0 O 4.00
L% 0 1 O 1 0 0 0 O 0.0 50.0 50.0/ O 3.50
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